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BUSINESS ECONOMICS

Paper : 401
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following quesﬁoﬁs ; 1x10=10
©eq 2PCIRT Ted e

(a) What is business economics?

[T SRS [F 2

(b) Define demand.
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(2)

(c) What is marginal cost of production?

oo 2ifes 9w 52

{d) Define GDP at factor cost.

oM S (GDP) 5 771 TeopEm sigel fiy |

(e) What do you mean by dumping?

@iﬁ‘?ﬁ{iﬁmﬁs{w?

What do you mean by marginal physical
productivity of a factor?
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(9)

What is shut-down point of a firm?

TR el SBe TRofTTe 79 I 4% 5 9

(h)

What is selling cost?
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(3)

(i) Draw a total fixed cost curve.
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() What is demand forecasting?

wifamie offrept 2

. Answer in brief (within 30 words each) : 2x5=10
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(a) What is production possibility curve?

T IR @A T 2

(b) State the determinants of demand.

vifEn fraEe e 4 |

() What is excess capacity of a firm?

Y AP SfefRie el 7 7

Jd) What is production function?
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(4)

(e) Give two differences between normal
profit and supernormal profit.

KISICE TIF OF Sgefde JaeR es 150
12 T 44 |

3. Answer any Jour of the following :

o & leT BfbR S fi

(a) Discuss the scope of business
economics.
I wLAST ARPR SIcerrsa 4 |

(b) Analyze the basic problems of an
economy.

wYAT (T TP Reme 31 |

(¢) Discuss the main features of

monopolistic competition.

RIRI oo T 2w @REr
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(5)

d) Explain the cost-output relation in short
B | run.

YIS TSN o= 00 1 |

fe) Analyze the different profit policies
followed by public enterprises.
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What is elasticity of demand? Discuss
~ different methods of measurement of
elasticity of demand. 2+8=10
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What do you mean by national income? How
it computed? 3+7=10

1S ferce [ geR e @ @ oy 79 w2

xplain the laws of returns to scale. 10
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(6) (7))
i/ T Or / w=Al
Discyss the modern approach of cost. 10 : ; ;
Profit is the reward for taking risk and
TJRE Y YI]EIICHT SICATo 41 | bearing uncertainty. Explain.

6. What is perfect competition? Discuss price
and output determination process under
different market periods in perfectly

COmpetit.ive market. 2+8=10 B |
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What are the characteristics of oligopoly?
Determine price and output under oligopoly
with the help of kinked demand curve model.
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T freon aes aREPRR & [0 e vz
@R T SRS TE i e WA T
Ry < |

7. Explain the dynamic theory of profit.
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